;> restart :
Vn —Vin Vn Vn — Vout _

>NODEW!:=R—S+E+ Rf 0
NODEvn = H=F 4 BL o Tnfout ;;/O”t -0
> NODEout = Vout—R(O—A-Vn) n Vou;; Vn n V;?t ~0
NODEout = Vout;;A Vn n Vou;]_r Vn n VIOJH ~0

> solve( {NODEvn, NODEout}, [ Vout, Vn])
Vout= - (Ri Vin Rl (-Ro + RfA)) / (RoRfRi + RfRIRs +RiRfRI+ Rs Ri RIA + RfRo Rs

+ Ro RIRs + RIRs Ri + Ro Rs Ri + Ro RIRi), Vn= (Ri Vin (RfRl + Ro Rl
+RoRf))| (Ro RfRi + RfRIRs + Ri RfRl + Rs Ri RIA + RfRo Rs + Ro Rl Rs + RI Rs Ri
i + Ro Rs Ri + Ro RI Ri) ]]
[ > Gain = (Rs, Ri, Rf, Rl, Ro,A) — - (RiRIl (-Ro -I—RfA))/(RoRfRi-I—RleRS + RiRfRI
+Rs Ri RIA + RfRo Rs + Ro RIRs + Rl Rs Ri + Ro Rs Ri + Ro RI Ri)
Gain := (Rs, Ri, Rf, Rl, Ro, A) — - (Ri Rl (-Ro + RfA)) | (Ro RfRi + RfRI Rs + Ri RfRI
+ RsRiRIA + Ro RfRs + Ro RIRs + Rs Ri Rl + Ro Rs Ri + Ro RI Ri)

_> Gain(Rs, Ri, Rf, Rl, Ro, A) #This is the equation for the closed loop gain!
-(RiRI (-Ro+RfA)) / (RoRfRi+RfRIRs + RiRfRI+Rs RiRIA + RfRo Rs + Ro RI Rs

+ RIRs Ri + Ro Rs Ri + Ro Rl Ri)

_> Gain(1e3, 1e9, 3e3, 10, 0, 1e9) #Substituting in some values gives the expected result.
-2.999999988
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